H = 10.000 m
B = 6.000 m
h = 2.500 m
q = 10.000 kN/m?
Ldmin = 1.500 m
Ld = 3.995 m
FS = 1.200
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No % C >y S S/r Sai a L CL

(m) (m) | (kN/m®) | (kN/m?) | (kN/m?) | (m) (m) (kN m)
1| 3.000] 3.000[ 18.00 20.0 | 54.000
2 | 10.000| 7.000] 19.00 20.0 [133.000 | 2.500 | 0.3849 | 0.3951 [22.6378 | 2.566 333.362
3 | 13500 [ 3.500 | 19.00 20.0 6.000 | 0.9238 | 1.1778 [44.8459 | 5.084 1320.792
4 | 20.000| 6.500] 19.00] 100.0 6.495 | 1.0000 | 1.5708 [22.5163 | 2.552 3315.724
5
6
7
8
9
10
11
12
13

20.000 187.000 90.0000 | 10.203 4969.878

Es = Mr - C

Md (y H+q)rr/2 r= 6.495 m
4969.878
Fs = TTEE 375 = 1.20 1.2
L 10.000 3.995 13.995 m




